S EIRIRERIE S Ea B 031-44009¢

TR 2
SR S ey
TALASRT

T GET: R0¢] 1¢R (FSHT IRET)
IJAA A, ; fufa: R0¢R 102125

o wm ST T @it TRe e I e |

off TFQ SUSRAT SHaEiET |
9 THHR TR T ALF.059 | 06 Bl TFHq Alfies WREANT HEAHA F=aiiaq

T F & W U wed ool SATRIT FRIT THIT WD G TR BHI THIHDT
URIEIBT Gooll SaH Wil AATd A TR 9 FAISHebT ARl TR uered TEy
g A T WHNH IRGH |
LRIREE
9. | afier far THE | IRAT | (e aRE) | Fiead
q Leg Press Sets 1
R Arm and Shoulder Wheel Sets 1
3 Standing And Seating Twister Trainer Sets 1
¥ Air Swing Sets 1
Y Cycle Sets 1
€ Cross Trainer/ Sets 1
Elliptical Exercise
© Bridge Ladder Sets 1
= Sit UP Station Double Sets 1
Q Treadmil Sets 1
q0 Push and Pull Up Chair Sets 1

>
Fax No.: 031-550019, Website :- saptakoshimun.gov.np, Email:- saptakoshimun@gmail.com <

"D, W, TRATC, VIS Wet: HatgHior faemmaehl qater, quanret -RaTfershrent egfeeht smem

i Scanned with !
i & CamScanner’;


https://v3.camscanner.com/user/download

R 039-Y%009%

O GEAT: R0¢8 1¢R (FSHT @)
IJAA . : fufa R0¢R 102188

>4 | SR | SRReeT Dimension Fraa
ECIUI

1 Leg Material: Pre Galvanized Mild Steel 2110MM(Length)
Press Main Central pipe: 100 mm NB (114.3 mm OD) | 710 MM (Width)
Pipe - 150 mm NB (168.3 mm OD) Pipe 1670MM(Height)
Swinging paddle pipe: 40 80mm (OD),

Handle Pipes: 30-60 MM (OD) Thickness of
pipes: Not Less Than 3 mm.

Seat: Galvanized MS deep draw quantity of 2mm
thickness with no joints with uniform outer edge
radius of 2mm or Plastic Alloy / HDPE seat with
more than 5mm thickness with effectively
connected on MS frame

Footrest: 30-50 mm MS pipe or Plastic Alloy
/Nylon footrest with more than Smm thickness.
Reinforced foot pedals for extended 7 life.
Bearings: 62012 RS1 and 62052RS1, Permanent
lubricated sealed bearing of reputed brand for
maintenance free usage, High Tensile SS with
galvanized nut and bolts ,circlips, pins(25mm in
dia solid bar) for assembly All open ends of pipe
either sealed in or closed by MS / Injection
moulded Plastic LLDPE / HDPE cap for user
safety,

Paint: Smooth finished surface with primer
coating of not less than 40 micron followed by
epoxy based all weather protection double layer
powder coated paint of 60-70 micron.

Base plate for fixing : 330 mm Dia and not less
than 10 mm in thickness

2 Arm and | Material: Pre Galvanized Mild Steel 700MM(Length)
Shoulder | Main Central pipe: 100 mm NB (114.3 mm OD) | 1000 MM
Wheel Pipe - 150 mm NB (168.3mm OD) Pipe (Width)

Both side arm support: 30-40mm (OD)/ 25 mm | 1280MM(Height)
NB pipe Rotating wheels: 365-430 mm dia,
Thickness of pipes: Not Less Than 3 mm.
Bearings: 62012 RS1 and 62052RS1, Permanent
lubricated sealed bearing of reputed brand for
maintenance free usage, High Tensile SS with

galvanized nut and bolts ,circlips for assembly All B 4 -
open ends of pipe either sealed in or closed by MS 4 \ < \
LA

Fax No.: 031-550019, Website :- saptakoshimun.gov.np, Email:- saptakoshimun@gmail.com ‘(@;({V'

i Scanned with !
i & CamScanner’;


https://v3.camscanner.com/user/download

TF U&= 042 1¢R
TAMI .

R 039-4%009%

QIEEIRIIED)!

fafa: 0¢3 102128

/ Injection moulded Plastic LLDPE / HDPE cap
for user safety,

Paint: Smooth finished surface with primer
coating of not less than 40 micron followed by
epoxy based all weather protection double layer
powder coated paint of 60-70 micron.

Base plate for fixing : 330 mm Dia and not less
than 10 mm in thickness

3 Standing
And
Seating
Twister
Trainer

Material: Pre Galvanized Mild Steel

Main Central pipe: 100 mm NB (114.3 mm OD)
Pipe - 150 mm NB (168.3mm OD) Pipe

Chair Pipe: 60-80 mm (OD) and base plate of 250
mm diameter and 10 mm thickness

Standing Platform Pipe : 60-80 mm (OD) and
base plate of 250 mm diameter and 10 mm
thickness

Handle Frame of Seated and Standing Twister: 30
60 mm (OD)

Thickness of pipes: Not Less Than 3 mm.
Twister Plate for seat: Fitted above the supporting
frame, 300-400 mm Dia and 10 mm thick MS
Round Plate Twister Plate for standing platform:
Fitted above the supporting frame, 250-320 mm
Dia and 10 mm thick MS Round Plate

Bearings: 62012 RS1 and 62052RS1, Permanent
lubricated sealed bearing of reputed brand for
maintenance free usage, High Tensile SS with
galvanized nut and bolts ,circlips for assemblyAll
open ends of pipe either sealed in or closed by MS
/ Injection moulded Plastic LLDPE / HDPE cap
for user safety, Paint: Smooth finished surface
with primer coating of not less than 40 micron
followed by epoxy based all weather protection
double layer powder coated paint of 60-70
micron.

Base plate for fixing : 330 mm Dia and not less
than 10 mm in thickness

4 Air
Swing

Material: Pre Galvanized Mild Steel

Main Central pipe: 100 mm NB (114.3 mm OD)
Pipe - 150 mm NB (168.3 mm OD) Pipe
Swinging Paddle Pipe: 60 80 mm (OD)
Swinging Support Platform : 100-150mm (OD)
and 10 mm thick MS

Fax No.:

031-550019, Website :- saptakoshimun.gov.np, Email:- saptakoshimun@gmail.com EAN

TS, W, TR, TS Tet: Fatgriv fremeent qaiar, quentRt Tratfreien! agfam R

i Scanned with !
i & CamScanner’;


https://v3.camscanner.com/user/download

TEET: R043 1¢R (FISHT 9@
JAA . ;

N 039-4%009%

fufe: 3043 108185

Thickness of pipes: Not Less Than 3 mm.
Footrest: Top Quality LLDPE/ HDPE for
footrest 3-5mm thickness. Reinforced foot pedals
for extended life

Handle Frame of Swinging Platform : 30-60
mm (OD) Bearings: 62012 RS1 and 62052RS],
Permanent lubricated sealed bearing of reputed
brand for maintenance free usage, High Tensile
SS with galvanized nut and bolts circlips for
assembly All open ends of pipe either sealed in or
closed by MS / Injection moulded Plastic LLDPE
/ HDPE cap for user safety,

Paint: Smooth finished surface with primer
coating of not less than 40 micron followed by
epoxy based all weather protection double layer
powder coated paint of 60-70 micron. Base plate
for fixing : 330 mm Dia and not less than 10 mm
in thickness

5 | Cycle

Material: Pre Galvanized Mild Steel

Main Central pipe: 80 mm NB (88.9 mm OD)
Pipe - 100 mm NB (114.3 mm OD) Pipe

Handle frame: 30-60mm

Thickness of pipes: Not Less Than 3 mm.
Revolving paddles & Wheels: heavy duty
M.Splate PVC cover Handle with dia 30-60 mm
(OD)

Seat : 130 mm long x 300 mm wide x 3mm thick
and deep drawn and pressed in tools uniform
curve edge of 20mm radius with no sharp edge or
HDPE seat with 3-5 mm thickness effecitevely
connected on frame.

Bearings: 62012 RS1 and 62052RS1, Permanent
lubricated sealed bearing of reputed brand for
maintenance free usage, High Tensile SS with
galvanized nut and bolts ,circlips for assembly All
open ends of pipe either sealed in or closed by MS
/ Injection moulded Plastic LLDPE / HDPE cap
for user safety, Paint: Smooth finished surface
with primer coating of not less than 40 micron
followed by epoxy based all weather protection
double layer powder coated paint of 60-70
micron.

1050MM(Length)
560 MM (Width)
1470MM(Height)

\
eg%@

Ja

= :
N
O oy ™

Fax No.: 031-550019, Website :- saptakoshimun.gov.np, Email:- saptakoshimun@gmail.com Z\e
*

e, W, TR, TIE wet: watgrior foremmasht qaterr, wHenteft Trarfersheh! Tnfasht smume

i Scanned with !
i & CamScanner’;


https://v3.camscanner.com/user/download

FEEHW, FRATRERT B 031-4%004¢

TYEN‘IO;:M

T TET: 048 1¢R (FISHT YITET)
AT, fufr: 204102188

Base plate for fixing : 330 mm Dia and not less
than 10 mm in thickness

6 | Cross Material: Pre Galvanized Mild Steel 1265MM(Length)
Trainer/ | Main Central pipe: 100 mm NB (114.3 mm OD) | 550 MM (anith)
Elliptical | Pipe - 150 mm NB (168.3 mm OD) Pipe 1780MM(Height)

Exercise | Supporting Frame : 60-80 mm (OD) and base
plate of 250 mm diameter and 10 mm thickness
Footrest Supporting Frame : 70-100 mm
Swing Arm Pipe: 30-60 mm (OD) Dia, PVC
Cover Handle with dia 30-60mm,

Thickness of pipes: Not Less Than 3 mm.
Footrest: Top Quality LLDPE/ HDPE for
footrest 3-Smm thickness. Reinforced foot pedals
for extended life

Bearings: 62012 RS1 and 62052RS1, Permanent
lubricated sealed bearing of reputed brand for
maintenance free usage, High Tensile SS with
galvanized nut and bolts ,circlips for assembly All
open ends of pipe either sealed in or closed by MS
/ Injection moulded Plastic LLDPE / HDPE cap
foruser safety, Paint: Smooth finished surface
with primer coating of not less than 40 micron
followed by epoxy based all weather protection
double layer powder coated paint of 60-70
micron.

Base plate for fixing : 330 mm Dia and not less
than 10 mm in thickness

7 | Bridge Material: Pre Galvanized Mild Steel

Ladder | Main Central pipe: 100 mm NB (114.3 mm OD)
Pipe - 150 mm NB (168.3 mm OD) Pipe
Sideways Parallel Support Pipe : 60-80 mm
(OD)

Thickness of pipes: Not Less Than 3 mm.
Parallel Handle Pipes: 30 60 mm (OD) High
Tensile SS with galvanized nut and bolts ,circlips
for assemblyAll open ends of pipe either sealed in
or closed by MS / Injection moulded Plastic
LLDPE / HDPE cap for user safety,

Paint: Smooth finished surface with primer
coating of not less than 40 micron followed by
epoxy based all weather protection double layer A M

powder coated paint of 60-70 micron.
g\\ PR

Fax No.: 031-550019, Website :- saptakoshimun.gov.np, Email:- saptakoshimun@gmail. con\ﬁ‘;‘,{(ﬁg\
TS, W, T, TE Hew: waterfior foremmaent qatum, THenit Rt et SR

Scanned with

‘B CamScanner’:


https://v3.camscanner.com/user/download

Bl
s O\ .

)
3
el ¢
-

R 039-94%009<

HrRATT

Wi T
VB N, 4R
T HEAT: R0 ¢ (ST T
EICIER fafd: R0¢3 108128
Base plate for fixing : 250 mm Square Base and
not less than 10 mm in thickness
8 |Sit UP | Material: Pre Galvanized Mild Steel 1595MM(Length)
Station Main Central pipe: 100 mm NB (114.3 mm OD) | 640 MM (Width)
Double | Pipe - 150 mm NB (168.3 mm OD) Pipe 1450MM(Height)
Main Frame Pipe : 60-80 mm (OD)
Support Frame Pipe : 40 60 mm (OD)
Sit-up Board Frame Pipe : 30-40 mm (OD)
Thickness of pipes: Not Less Than 3 mm. High
Tensile SS with galvanized nut and bolts ,circlips
for assembly
Paint: Smooth finished surface with primer
coating of not less than 40 micron followed by
epoxy based all weather protection double layer
powder coated paintof 60-70 micron. Base plate
for fixing : 330 mm Dia and not less than 10 mm
in thickness
9 | Treadmil | Material: Pre Galvanized Mild Steel 1210MM(Length)
Main Central pipe: 100 mm NB (114.3 mm OD) | 750 MM (Width)
Pipe - 150 mm NB (168.3 mm OD) Pipe 1400MM(Height)
Support Frame Pipe : 70 100 mm (OD)
Handle Arm Pipe: 30-60 mm (OD)
Base Platform : 70-100 mm Square Pipe or Plate
Thickness of pipes: Not Less Than 3 mm.
Bearings: 62012 RS1 and 62052RS1, Permanent
lubricated sealed bearing of reputed brand for
maintenance free usage, High Tensile SS with
galvanized nut and bolts ,circlips for assembly All
open ends of pipe either sealed in or closed by MS
/ Injection moulded Plastic LLDPE / HDPE cap
for user safety,
Paint: Smooth finished surface with primer
coating of not less than 40 micron followed by
epoxy based all weather protection double layer
powder coated paint of 60-70 micron.
Base plate for fixing : 330 mm Dia and not less
than 10 mm in thickness
10 | Push and | Material: Pre Galvanized Mild Steel 2100MM(Length)
Pull Up | Main Central pipe: 100 mm NB (114.3 mm OD) | 710 MM (Width)
Chair Pipe - 150 mm NB (168.3 mm OD) Pipe 1870MM(Height)
Support Frame Pipe : 70 100 mm (OD)
Swing Arm Pipe: 30-60 mm (OD) %//4\\ <
—ax

Fax No.:

031-550019, Website :- saptakoshimun.gov.np, Email:- saptakoshimun@gmail.com ) 1’\{1\ o

"D, AT, BRATC, TS qet: watgrior fashmaeh! qata, THeief TRaTferenie! qyfash e

i Scanned with !
i & CamScanner’;


https://v3.camscanner.com/user/download

R 039-94009%

O UEAT: 2042 1¢R (FISHT I

TJAMI . fufer: 0¢ 102188
| Thickness of pipes: Not Less Than 3 mm.

Seats and Back Rest : 330mm x 300 mm x 3mm

thick, Made of MS

Bearings: 62012 RS1 and 62052RS1, Permanent
lubricated sealed bearing of reputed brand for
maintenance free usage, High Tensile SS with
galvanized nut and bolts ,circlips for assemblyAll
open ends of pipe either sealed in or closed by MS
/ Injection moulded Plastic LLDPE / HDPE cap
for user safety, Rear Deltoids in the pulling
motion.

Paint: Smooth finished surface with primer
coating of not less than 40 micron followed by
epoxy based all weather protection double layer
powder coated paint of 60-70 micron.

Base plate for fixing : 330 mm Dia and not less
than 10 mm in thickness

oooooooooooooooooooooooooooooooooooo

Fax No.: 031-550019, Website :- saptakoshimun.gov.np, Email:- saptakoshimun@gmail.com

TS, HI, BT, TITE Wet: Hatgrivr faemmaent atur, Quenieft TTRuTforenieh! g fgeht Sram

i Scanned with !
i & CamScanner’;


https://v3.camscanner.com/user/download

